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SN SETRD
33 =25 JgEs & ks
Gl HIEZSBAIAE 2] (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSIIEAIAE 29 100,782 101,504 NT22
308 XHXIEMSOIH 100,782 101,504 NT22
18 SIS0t 4 A AS A 100,782 101,504 NT22
O NLHYSSHEAIAE RA2c
(SSI1EH Moall=7) 93,532
O XNLHYSSHDAIAE AGHH 2 7,250
SLctAIAE 23 103,672 24,528 79,144
201 2= 6,252 0 6,252
01 At22t2lt] 6,252 0 6,252
O 2UCtAIAE HAAIAE [XI2c]
521,000 122 6,252
308 AHXIEMSOIH 75,420 24,528 50,892
18 SIS0t oA AS A 75,420 24,528 50,892
O 2LetAAE 283 & =22
75,420,000 * 1= 75,420
405 AtatE=H 22,000 22,000
01 TR =S FISHI 22,000 22,000
O 2UetAIAE AEC2IXl TIAT 2
5,500,000 ~4 K 22,000
JIS2AeIAIAE 29 47,000 40,385 6.615
201 er23 | 34,000 28,385 5,615
01 At2teltl 34,000 28,385 5,615
O JIS2IANAE FA2c] 22,000
O JISZelAIAE HHolHAAZ X ZZ2 Y
H2tAIEd Y 12,000
207 ARl 13,000 12,000 1,000
02 MAHHEHI 13,000 12,000 1,000
O SE2ASAAE =Y 13,000
SCIREMEAAIAE 2 6.516 6.516 0
201 er23| 6.516 6.516
01 At2teltl 6,516 6,516
O SURENMNEAAAH S22l
543,000 x 122 6,516
SEHAEALY =2Y 29,960 52,969 A23,009
201 get=3y| 29,960 52,969 A\23,009
01 AtR2te|H] 9,960 9,959 1
O SEHAZEAAYE X2t
830,000& * 122 9,960
2 35244l 20,000 43,010 A23,010
O SXAIX Sdes
253 60,0002+ 12 18,000
O Z2Hre 8K &ER=
80&+25,0004 2,000
22 HdN 29 6,000 6,000 0
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2A: #HEX
ZH: X
(=2 o

kel
Chel: Sorae| AIAE 2t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 8,139 8,139 0
O ZHEXAIAY FA2e 8,139
FOHALOIE XHEHAIAE 2 7,655 99,678 A92,023
201 er23y| 7,655 3,478 4177
01 AtR2t2|HI 7,69 3,478 4,177
O FMHAIOIE RHHAIAE F X2l
956, 7803 8 7,65
Btolela Se2elANAE 2 36,700 34,000 2,700
201 2= 36,700 0 36,700
01 AtR2t2lt] 36,700 0 36,700
O HioleiA Sgratcel clold A AZIAISA
-¢ 36,700
MOIHE NS 22 HIAIAE 2F 120,000 0 120,000
405 AtatE = 120,000 0 120,000
01 ML ESFSHI 120,000 0 120,000
O MOIBEMNUS Zot2AMAIAR & 120,000
AYFESNY 2 478,605 420,027 58,578
YIS NY =Y 465,805 408,227 57,578
201 et 3| 283,489 275,488 8,001
01 AtR2tc|bI 46,351 58,351 A12,000
O F=28d M+ 225,000 202 4,500
O QI Aol &X
3,000,000 %53 15,000
O HEE2Y UEAIEH sA2el
1,813,580 x 122 21,763
O Ip HELSAIAE X2
424,000 123 5,088
2 35244l 237,138 217,137 20,001
O dgsuY 2= 19,357, 1702« 12& 232,287
O dob&t SV EESNY 2=
272,250 x 122 3,267
O EAXA &8 2dE
132,000« 128 1,584
308 XXM SOIA 17,79%6 17,79%6
07 AX L= 17,79 17,79%
O E-AlZ22t SV EESAY e 17,79%
401 AlEHIZ 2018 12,000 0 12,000
01 Al&H| 12,000 0 12,000
O Sag AHolE &R
6,000,000 22 12,000
405 AtatE=H 152,520 114,943 37,577
01 TR =SFISHI 162,520 114,943 37,577
O &Y HI0IE H2ARIX WA
76,260, 0003 *2CH 152,520
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A SEXRAD
B mos J|ueE ¥ nes
Rl HFFESAY 2l (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
2SN 2Y 10,400 10,000 400
201 L2 | 10,400 10,000 400
01 Ar22eltl 10,400 10,000 400
O ARE2E(EU, SAEX ) ¢
150,000« 12& 1,800
O HERKIAFLEE L HlaHsd HE
300,000& *23| 600
O A4ph 8HE HOIE 72
80,000& *1074*23] 1,600
O =250 & oz |X2el
200,0002 *6CH*23] 2,400
O RENMAEXI(UPS) Xl
4,000,000& * 14! 4,000
SAZQA 2Y 2,400 1,800 600
201 LBt23| 2,400 1,800 600
01 ArR222lt| 2,400 1,800 600
O Q45|94 BES &)
225,000 *43] 900
O Z&3194 RXl2a 1,500
HE XS 2| 367,306 306,002 61,304
MY 2 316,006 306,002 10,004
201 LEr2 | 266,006 285,982 A19,976
01 At 22|l 31,370 31,370 0
O QHYUAESI| S350 7Y (HNIAE)
50,0002 13004 6,500
O #HEHMSIAAE X2l
1,820,000& = 12& 21,840
O =FAIAH K22
252,500 =128 3,030
2 S=29| 234,636 254,612 19,976
O 23 A184 8% Je3
12,227,000+ 128 146,724
O 2ol 220l MElA 22
1,540,000& = 12& 18,480
O 2dtsk 2X MblARZ
605,000 =123 7,260
O S3 LA™ MBIA 23
1,000,000& 123 12,000
O #FNS HER= 340,000 <122 4,080
O #HENG, FAXEE 3623
3,841,000&*12& 46,092
405 KR SHI 50,000 20,020 29,980
01 ML SEFHSHI 50,000 20,020 29,980
O #ENS =FHAIAE D&F 40,000
O #HEAMSD| etold A 72
200, 0002 *500H 10,000

- 218 -




NPT AD
33 =g JgEs & 15s
el HEASE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXs 88 AL 51,300 51,300
201 er23 | 6,300 6,300
2 35234l 6,300 6,300
O 201Aa% Mg 6,300
207 ARl 45,000 45,000
02 MAHHEH] 45,000 45,000
O 22AUS Al 2= &Y
22,500,000 *2%& 45,000
FFE & ATE0 22 387,970 255,864 132,106
HEETFH 2 283,470 162,094 121,376
201 2egh=3| 43,470 41,094 2,376
01 At2t2ltl 43,470 41,004 2,376
O ™| %2l & 228 7Y
60,000 *100CH*90/ 100 5,400
O ddg:E IRH Sl
27,0002 %1,410CH 38,070
405 AtatE = 240,000 121,000 119,000
01 TR =S FSHI 240,000 121,000 119,000
O d3eRE AFH 2L
1,200,000 x200CH 240,000
AEEN FY 104,500 93,770 10,730
201 er23| 104,500 0 104,500
01 At2teltl 104,500 0 104,500
O MSLIA ATZEN HZAEH 2 66,330
O A ATER 0 HZAIEE 78 32,390
O 2EX S ATE 0 d2AEH
-8 5,780
== 2el 213,984 167,822 46,162
sz 24 212,384 166,222 46,162
201 er23| 12,384 16,222 23,838
01 At2teltl 12,384 8,972 3,412
O B&EALD 28 & 283 28
182,000& %123 2,184
O JIE& Sely B & SAPDI &8
180,000 *42] 720
O BEMLD JIEE & ANEAS
3,870,000& %12 3,870
O BEAMLD g2gs)] A2l
750,000 =4CH 3,000
O SR HEIIES BREAZ(CH) === 2,610
207 ARl 200,000 150,000 50,000
02 MAHHEHI 200,000 150,000 50,000
O 2 HIEIDISE BREAIA(2R) 200,000
JIE=28He2s 29 1,600 1,600 0
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SN SETRD
33 =g JgEs & ks
=2l FEsNE 2g2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HatgHl 423 2
16,2002 *450H 729
202 04dl 4,116 4,116
01 2L AL 4,116 4,116
O =28 E30|
70,0002 x7 %123 %70/100 4,116
dEstus g 2,386 2,386 0
201 2= 2,386 2,386
01 At22telt] 2,386 2,386
O 3Z3tusy 428 7Y (Z2H &U,
gX &) 234,000 %43 938
O Z22& 2SS ZAHI
250,000 43 1,000
O 373 323 u=s Wl € KM
225,000 23] 450
E L AKS 28,600 28,580 20
201 er2 3| 21,060 21,060 0
2 2229 21,060 21,060 0
O PHRI(Ys L ©5)
1,530,000& 122 18,360
O SMAISIIE (HHEHH) 2,700
202 04| 1,680 1,920 A240
01 =LHOHI 1,680 1,920 A240
O 2AAS 28044
10,0002 %202 12& %70/100 1,680
308 XXM SOIE 5,860 5,600 260
18 SIS0t 4 A AS A 5,860 5,600 260
O REZOAAY FA2e 5,860
Sctft FRE 29 70,010 50,000 20,010
201 er23y| 70,010 50,000 20,010
02 S3=gHl 70,010 50,000 20,010
O 2Rt S8 0=z 70,010
CXg ss8% =4 1,538,230 453,536 1,084,694
[ 700,000
= 19,931
Ea 818,299
A0ELE R 2 76,626 140,724 264,098
201 fet= 3| 76,626 137,724 /61,098
01 AtR2te|H] 31,170 62,100 230,930
O A0t 2elXl S38A Z2EuX
600,000 23] 1,200
O 20| 1A SMEHl F5F WA
550,000& 42 2,200
O MNeMEINRAB =S 2,000
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A SHEXR DL
3 =5 JgEs & 15s
ol OXE 3388 =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2ZZAl SUNEHl =Al2c 7,520
O XDl Sl CCTV =Al2e 18,250
02 S3=gHl 45,456 75,624 A30,168
O 2ct=t UXE AMHIA 0188 24,000
O ADIELRIX MHIA 332 21,456
-HII23 88,000& * 122 1,056
-Ste3 1,700,000& * 12& 20,400
ASHY SSAHIA 29 112,475 86,075 26,400
201 er=23y| 110,123 83,723 26,400
01 AtR2t2|HI 62,642 62,642 0
O LIXIgtDIs 323 2,100
O ZEHEY ¥ =gui
864,000 32 2,592
O GIAFRD] ZE WA
900, 000& #2JH 2-+32 5,400
O loTSeEHE =Al2el 19,000
O loTAIH, 2H&HI 7Al2el 13,750
O loTHAHEOHN AIAE sXl2tel 19,800
2 52434l 47,481 21,081 26,400
O loTRHEZI| 2=l
200,0003 x20H 4,000
O loTSSAMHIA HE3IHE
2,200,000 x 12| &H* 122 26,400
O loTE8HD| Stie=
7,7002%823] &1 122 7,577
O loTHAZ RO S| #)I23
22,0002 +362| 6123 9,504
202 O4H| 2,352 2,352
01 2L A 2,352 2,352
O LNg™=2EY SHOY
70,0002 x4 %122 %70/100 2,352
A0IEYCIX 258 E =t 1,000,000 0 1,000,000
2 700,000
= 300,000
401 Al HIZL 01| 1,000,000 0 1,000,000
= 700,000
[Ea 300,000
01 Al&H| 1,000,000 0 1,000,000
O ANEdZE 75 1,000,000
) 700,000
o 300,000
sHESL SEZH 28 69,255 62,755 6,500
201 223 49,900 43,400 6,500
01 At22t2lt] 7,900 1,400 6,500
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NPT AD
3 =5 JgEs & 15s
el OXNE SS38 =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O s4dulsd 2gt|
116,600& 12043 1,400
O etolmol AP #=cl 1,625,000 *4CH 6,500
02 S3=gHl 42,000 42,000 0
O S3240/I0| sS4 RS
3,500,000& «12& 42,000
202 04l 980 980
01 2LHoIH 980 980
O Z2SASAL AISHZAL EF01H]
20,0002 *703!*70/100 980
308 AHAIEMSOIE 18,375 18,375
07 MXISHHIBE = 18,375 18,375
O sHELE =105 Yy 2=
(BHAFERH)
3,675,000 +504 0t = 18,375
HESHOIX 22 123,008 46,500 76,508
201 2= 81,008 46,500 34,508
01 AtR2t2lt] 81,008 46,500 34,508
O g&2d, ool & |UE=2010E, NS
0153t 01E= 4,000
O UE SHIOIXI X122l (H/W, s/w)
336,000, 000& *12/100 40,320
O 2=0{ SH0IXl A=A =8
1,750,000& «12& 21,000
O RQIHUY SotEH| KXl2tel 15,688
—DDoSAI A = Xl2kel 4,562
~SYHRAIAH(IPS) FAI2e 4,538
-HEEH(FW) X2l 2,100
LS (WAF) [AI2e 4,488
405 AHAHE S 42,000 42,000
01 AL =S F = 42,000 42,000
O = daty 2oradl wHl 42,000
HOIZ2t=S 29 9,440 9,440
201 Zet=Ehl 9,440 9,440
01 AtR2t2lHI 9,440 9,440
O HIOIZ2t==S(APP) RAI2te
94,400,000& *10/100 9,440
SAHEE 58,051 58,577 VANGYS
101 e124d| 12,574 13,284 AT10
M ORINZZ2NSE S 12,574 13,284 AT10
O AFSHZAF JI2HHI 224 2124H| 12,574
-S&el X el2|
83,2802 1 %282 +70/100 1,633
—ZAR2EIAF Q12|
83,2802 x32+282!+70/100 4,897
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SN SETRD
M MO3 O|pEE U DTE
oelr CIXE SsEE =4 (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—ZAKIEEE A el
80,2403 14 +282+70/100 1,573
-LUHERA elAd|
80,2403 *3E x192+70/100 3,202
-NERES 1,812,000&+70/100 1,269
201 L2 45,477 45,293 184
01 AtR2telbl 45,477 45,293 184
O MIHZEAL ESEARE E35H & WEH| 28,177
“MIHEAL ESEARE S|
80,2403 x 18 +262 +70/100 26,287
“AHEHIZAN S X2AME WSH|
6,000& x18Z %252 70/100 1,890
O SHZALXIZHI 17,300
-SHEZAL EE2E B2
70,0002 *33|*200H 2~ 4,200
252 20SH BOM Z2HAIZH,
ZYMEZY) 45,0003 702 x22] 6,300
22 NESH 210N 228 (SHAE,
F=RAREN) 45,0003 702 *22] 6,300
—SHYEA ADE I ANRES 2 500
HSABISHZEAHER) 51,861 41,945 9,916
= 19,931
i 31,930
101 e124d| 3,422 3,701 A279
S 1,711
ia 1,711
04 JIZtN2Z2 S8+ 3,422 3,701 A279
O HIAMEIZAL JI2HH 22X 124H| 3,422
—ZAR2te|XF Q12|
83,2803 »2& »202 3,332
== 1,666
= 1,666
D8R3 %
= 45
2 45
201 Yer2 | 48,439 33,384 15,085
= 18,220
s 30,219
01 AtR2telbl 48,439 33,384 15,055
O H=2ASIZAL E=5 A E23| 28,474
—Z=AFE =2 80,2402 x18H « 16! 23,110
S 11,855
ia 11,555
-ZAF WSH| 6,0003 « 182~ 14! 1,512
= 756
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SN SETRD
3 =5 JgEs & 15s
oelr CIXE SsEE =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 756
- =3
80,2403 x4 12 3,852
[ 1,926
T 1,926
O HSARZAL 225, HHES
olafdl, S2H 7,965
= 3,983
[Ea 3,982
O HSABIZAL EEEA & 20A M 12,000
=2 OlSEAE MBE XA 37,514 37,514
101 @124H| 14,874 14,874
M ORINZZ2NSE S 14,874 14,874
O ZAIRE 21| 14,874
-RARZEI X} Q1A
83,2803 x2& » 13 2,166
—Z=ARR Q12| 80,2402 x10F~ 11 8,827
FArSR 01|
80,240 x4 * 11 3,531
JIZHZ22XN B2 350
201 fer23| 22,640 22,640
01 AtR2t2|HI 22,640 22,640
O ZALES Pl 7,640
—ZEALE QIMHIZ 1,800 +2,300% 4,140
-AANEEH ¥ ZAES 7Y 3,500
O 20 24 & 20N HH 15,000
AY2IZHI(AE XM 24,747,089 24,154,396 592,693
el 2E | 24,555,284 23,985,236 570,048
eIgE3| 24,555,284 23,985,236 570,048
101 e124d| 3,240,000 3,170,000 70,000
01 2= 3,180,000 3,100,000 80,000
O dati= 3,180,000
02 JIEtM = 60,000 70,000 10,000
O AIZIEEMIINH S22 EX3
20,000, 000& *3H 60,000
4 HASFEESS 21,315,284 20,815,236 500,048
01 g=sf8= 15,931,770 16,521,700 410,070
O dsTEs=s 70,319,682, 000& *9/100 6,328,772
O 2d= 70,319,682,000& %10.595/100 7,450,371
O gx+g 7=
70,319,682,000& *2.8522/100 2,005,658
O Mol2d 2=
70,319,682,000&%0.209/100 146,969
02 2UAHLEES 2,812,155 2,805,451 6,704
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SN SETRD
Mz Y SAAH|(HH XKD
el i Eg| (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O A8z 22
70,319,682,000%3.545/100 2,492,833
O LAY 8=
2,492 ,833,000%0.9082/7.09 319,322
M4 22F(IH) 22X HE283 = 2,571,359 2,483,085 83,274
O 2RH22N Fx2
125,000, 00024 *42S 500,000
O sz g3
18,371,075,000%3.545/100 651,255
O LoFIIRYLHR 2U2
651,254,000+0.9082/7.09 83,423
O 2wz 223
18,371,075,000%4.5/100 826,699
O 1822 P23
18,371,075,000%1.75/100 321,494
O Mgz 252
18,371,075,000%1.026/100 188,483
|23t 191,805 169, 160 22,645
Jl2&H| 191,805 169, 160 22,645
201 LBt AH| 52,695 33,664 19,031
01 AFR2telH| 52,695 33,664 19,031
O AF22t2|H] 58,550,000 *90/100 52,69
202 04b| 30,240 27,216 3,024
01 =ZLHM Y| 30,240 27,216 3,024
O 2| 90,000 x40 «12& x70/100 30,240
203 YR =ZIH| 108,870 108,280 590
01 J|A2HAH 2= 67,000 66,500 500
O J22d HR2F8| 67,000
-= = 60,000
-HY =SR2 7,000
02 HRIMNHREEY| 35,870 35,780 0
O AR =EIY| 35,870
-100Z= DL 80,0002 x100H 8,000
-300HK] 60,0002 x200H 12,000
-600H DHK] 45,000 *300H 13,500
600 0| &+ 30,0002 *79H 2,370
M4 ENSELRFEYI 6,000 6,000 0
O #EXWU2Y HRFEH|
500,000& *12& 6,000
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